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( Instructions

You may not use a calculator to answer any questions in this test.

-

Questions and answers

You have 40 minutes to complete this test.
Follow the instructions for each question.
Work as quickly and as carefully as you can.

If you need to do working out, you can use the space around the question.
Do not write over any barcodes.

Some questions have a method box like this:

For these questions, you may get a mark for showing your method.

If you cannot do a question, go on to the next one.
You can come back to it later, if you have time.

Qf you finish before the end, go back and check your work.

s

Marks

The number under each box at the side of the page tells you
the maximum number of marks for each question.

-
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These numbers are not in their correct order.

365 403 341 455 399
C Which number is closest to 400 )
C Which number is furthest from 400 )

Ref: 3N2a

1 mark

1 mark

2
- CPut these numbers in order with the highest at the top. )

( N\

199880

199090 i f
189890 |

198990 [ ]
199890 | )

Ref: 5N2

1 mark
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CWrite the three missing digits to make this addition )

2 marks

Ref: 3C2
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n This table shows house prices in different streets.

Street House price
North Street £126,875
South Street £199,100
West Street £113,945
East Street £96,750

What is the total price of the houses in North Street
and South Street?

1 mark

What is difference in price between the houses in West
Street and East Street?

1 mark

Ref: 4S1/5S1
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CWrite each number in its correct place on the diagram. )

21 23 25 27

Square Odd numbers Prime
numbers numbers

O

2 marks

Ref: 5C5c¢
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a This diagram shows a shaded shape inside a border of

squares.
CDraw the reflection of the shape in the mirror line. )
Use a ruler.
I
I
|
I
|
|
I
|
I
I
|
I
I
mirror line
Ref: 4G2c

1 mark

Write the two missing digits to make these equivalent
fractions correct.

Ref: 6F2

2 marks
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a CTick (v) the two numbers which subtract to make 0.34. )

0.83 0.79 0.59 0.45

1 mark

Ref: 5F10
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4 pens cost £6.72

-

2 pens and one pencil cost £3.78

CWhat is the cost of one pencil? )

||||IO O

2 marks

Ref: 3M9a
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0]
CWhich fraction is different (v")

==l

1
4

2
8

3
12

4
15

5
20

Jzs

CMatch the top fraction with a line

Ref: 3F2

1 mark

1 mark
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(8 Look at the balance.
A banana weighs 90 grams.

CHOW much does one orange weigh )

110

] 2 marks

Ref: 5M9c
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p=31
CWhat is2p + 77? )

1 mark
2s+5=87
(Work out the value of s? )
O
1 mark
Ref: 6A2

© 2016 MathsMadeEasy | www.mathsmadeeasy.co.uk | KS2 Reasoning-2-1, Page-12



A box of tea bags has 200 bags.
It weighs 600 grams

Tea

Poppy gave 30 tea bags to her Nanny.

CHOW much does the box weigh now )

—0

2 marks

Ref: 6R1
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Write all the common multiples of 2 and 9 that are
less than 40

1 mark

Ref: 6C5
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This thermometer shows temperatures in °C and °F

14° 32° 50° 68°
AN NN AN F
% |
FEETP T e ey rerrp T °C

-10° 0° 10° 20°

(Work out 59°F in °C

Ref: 5M5

I

2 marks
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The world’s highest mountain is 885,000 cm
A smaller mountain is 25,000 cm less

CHOW high is the smaller mountain )

11O

1 mark

The distance to the moon is 384, million metres

Not to
scale

«

Write the number that is one hundred thousand less
than 384 million

1 mark

Ref: 6N2
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(Calculate the size of angles a and b in this diagram )

309
a
b O
a = Q)
1 mark
b = ()
1 mark
Ref: 6G4b
Write the missing number
+ 20 =25

Ref: 6C8

1 mark
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Poppy bakes ten cakes for the school fete.

It costs £1.25 to make a cake.

She cuts each cake into 8 equal portions. =
She sells each portion of cake for 50p. '9(

She sells all the cakes.

How much profit does she make altogether

(How much profit does she make altogether )

Ref: 6C8

l®

3 marks
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Translate this shape 3 units up and 2 units right

8

7

; /

: /s

4

; /

2 — >

1

0 bY

1 2 3 4 5 6

CWhat are the co-ordinates of A after the translation? )

Ref: 6P2

1 mark
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